[image: image1.png](a) Draft the statement of profit or loss and other comprehensive income for Bookham Ltd for the year
‘ended 30 June 20X1.

(b) Draft the statement of changes in equity for Bookham Ltd for the year ended 30 June 20X1.

Note:
Additional notes and disclosures are not required. You donit have to use the workings tables to achieve full marks on
the task, however any answers inputinto the workings tables will be taken into consideration if you make errors in the.
proforma.

[You will be asked to draf a statement of financial position in task 2 using the same data. The data will be repeated]






CBA Sample assessment model answers

Financial Statements (FSTM)
Sample assessment 1

Task 1 (21 marks)
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[image: image2.png]Bookham Ltd

Statement of profit or loss and other comprehensive income for the year

ended 30 June 20X1
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Task 1 (continued)
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Task 2 (19 marks)
[image: image18.png]‘Bookham Ltd

Statement of changes in equity for the year ended 30 June 20X1
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Changes in equity
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[image: image3.png]Draft the statement of financial position for Bookham Ltd as at 30 June 20X1.
Note:

Additional notes and disclosures are not required. You dont need to use the workings tables to achieve full
marks on the task, but data entered into the workings tables will be taken into consideration ifyou make.
ertors in the proforma.
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Task 3 (8 marks)
[image: image5.png]In accordance with the IASB Conceptual Framework for Financial Reporting:

(a) Identify the TWO FUNDAMENTAL characteristics of useful information.
(b) Define the term ‘income’.

[(2) The two fundamental characteristics of useful information are relevance and faitful representation.

(0) Income s defined as:

“Increases in economic benefits during the accounting period in the form of inflows or enhancements of
assets or decreases of iabilies that resultin increases in equity, other than those relating to contributions
from equity participants”.





Task 4 (14 marks)
[image: image6.png]Prepare brief notes for the directors of Pancras Ltd to answer the following:
(a) Why must the lease be classified as a finance lease?

(b) Explain how the lease would be accounted for in the financial statements of Pancras Ltd, using the
figures from above to ilustrate your answer where possible.




[image: image7.png][(a) The lease must be classified as a finance lease because the present value of the minimum lease
payments (£28,000) amounts to atleast substantially al ofthe fair value (£30,000) of the asset and because
the lease term of 4 years is for the major part ofthe 5 year economic ife of the asset. These two situations
both indicate that the lease transfers substantially th risks and rewards of ownership from the lessor to the.
lessee.

(0) Atthe commencement of the lease term the finance lease must be recognised as an asset together with
a corresponding liabiliy to the lessor in the statement of financial position, at an amount equal to the lower of.

- the fairvalue ofthe machine (£30,000), and
- the presentvalue of the minimum lease payments (£28,000)

[The lease would therefore be recognised at £28,000.

The asset should be epreciated in accordance with the depreciation policy used for depreciable assets that
are owned, over the shorter of the machine's useful lfe (5 years) and the lease term (4 years). The annual
depreciation would therefore be £28,000/4 = £7,000.

Lease payments must be apportioned between the finance charge element, which is shown as an expense
in the statement of profitor loss, and the reduction of the outstanding liability.

[he total finance charge is calculated by the difierence between:

- the total ofthe minimum lease payments (£36,000)
- the iabilty to the lessor which was established atthe start of the lease (£28,000).

The finance charge of £8,000 should be allocated to each period uring the lease term “so as to produce a
[constant periodic rate of interest on the remaining balance of the liability This is normally implemented
through use of the actuarial method, although IAS 17 does allow some form of approximation to be used in
order to simplify the calculation (for example the sum of digits method).





Task 5 (17 marks)
[image: image8.png]Verwood Ltd prepares financial statements to 30 June each year. The financial statements for the year
ending 30 June 20X1 were authorised for issue on 29 July 20X1.

‘The destruction of a major production plant by fire on 22 July 20X1 must be classified as an adjusting
eventin accordance with 1AS 10 Everts after the Reporting Period.

(a) Is this statement true or false?

Tue

False





[image: image9.png]‘The following information relates to an item of inventory held n the warehouse of Bloxworth Ltd:

(b) Atwhat value should the item of inventory be stated in the company's financial statements in
‘accordance with IAS 2 Inventories?
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Task 5 (continued)
[image: image10.png]‘The following information relates to Weymouth Ltd for the year ended 30 June 20X1.

Profitirom operations (before deducting depreciation) £7,300.

YE30620X1  YE30.6.20X0

£ £
Inventories 4,200 4700
Trade receivables. 3,600 3400
Trade payables 1500 1,600

(€) Whatis the amount of net cash generated from operating activities (prior to any tax and interest
paid)?

26,700

£7,500

27,700

£7,900.





Task 5 (continued)
[image: image11.png]Atthe end of an accounting period, Blandford Ltd has a confingent asset where an inflow of economic
benefits is probable and a contingent iability where the likelinood of an outlow of resources is remote.

() Which of the following would be the correct accounting treatment for each of these items?

Contingent asset Contingent liability

Recognize in the statement of
financial position as an asset Disclosure is required

Recognize in the statement of
financial position as an asset No disclosure is required

No assetis recognised
Disclosure is required Disclosure is required

No assetis recognised
Disclosure is required No disclosure is required

‘The directors of Dorchester Ltd are concerned that one of ts machines might have become impaired.
‘The following information applies:

£
Camyingamount 19,600
Fairvalue 18,500
Costs of disposal 300

Value inuse 18,400




Task 5 (continued)
[image: image12.png](e) Whatis the amount of impairment loss that will be recognized in the statement of profitor loss, in
‘accordance with IAS 36 Impairment of Assets?

NI

£1,100

£1,200

£1400

() In accordance with IAS 28 Investments in Associates and Joint Ventures, a company will usually be.
‘accounted for as an associate f the investor company owns directly o indirectly at least:

10% of the company's voting power

20% of the company's voting power

40% of the company's voting power

50% of the company's voting power.





Task 6 (28 marks)
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[image: image20.png][Share capital - attributable to Beacon Plc L -700[4]
Revalustion reserve - aiibutable 1o Beacan PIc Saolq
[Retained eamings - attributable to Beacon Pic -133[¢]
Price paia 1400[€
|Goodwill 427/4
Consoldatedmentoris (oslore anynercompany adusimentll 75|
nter-company adjustment =4
7Eilq
[Beacon Plc (excluding any inter-company adjustment) L 370[q]
[Hill td - attributable to Beacon Pic 42[4]
inter-company adjustment <[4
084
IShare capital- atibutable fo NCI 300

=

[Revaluation reserve - attibutable to NCI

60

[Retained eamings - attributable to NCI

75

43

Al[Al[A][A]




[image: image13.png]Note:
You donithave to use the workings tables to achieve full marks on the task, however data entered into the.
workings tables will be taken into consideration ifyou make errors in the proforma.




Task 7 (20 marks)
[image: image14.png](a) Identify the formulas that are used to calculate each of the following ratios:

Retu o shrsholders s [Fra st o o iy 3700 - |
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(b) Calculate the above ratios to ONE DECIMAL PLACE.

Retur on shareholders' funds 18.1] %
Acid test ratio 09]:1
Inventory holding period 5.3 days
Assettumover (net assets) 2] times
Gearing 419]%






Task 8 (23 marks)
[image: image15.png][Caral,
45 requested | have analysed the working capital of Poole Limited by means of computing four accounting
ratios for the company and comparing these to industry averages. My analysis is as follows:

(a)

() Current ratio is betier

- Poole Lt has more curent assets available to meet ts current liabilies/more solvent
- However, looks to be too high! indicates less eficient management of working capital
- itmay have higher levels of receivables, inventories o cash & cash equivalents/
lower payables.

Inventory tumover is better

Poole Ltdis selling its inventories slightly more quickly as compared 1o the industry average

- Could be due to more effective stock management systems or the company might have reduced its
selling prices or employed better marketing techniques.

- Leads to lower storage costs and there is less risk of stock obsolescence.

i) Trade receivables collection period is worse
- Poole Ltdis taking longer to collect debts

- Bad for casn flow

- Could be due to poor credit control procedures

- May just be offering longer credit terms to boost sales
- Couldindicate the presence of bad debts.

() Trade payables payment period may be considered to be better
(ilinkedts supplier Gooail) o worse (finked o cash flow)

Poole Ltds paying is trade payables sooner
- Baafor casn flow
- Good for supplier goodwil
- ttmay have negotiated addtional setiement discounts with suppliers
- Suppliers may have dictated shorter payment terms.





[image: image16.png](0) Suggestions to improve the working capital cycle and possible problems associated with these.

Collect debts more quicklyireduce trade receivable days, e.g. improve debt collection procedures,
reduce credit periods

Possible [0ss of custom.

Increase the length of time taken to pay trade payablesfincrease trade payable days .g. negotiate.
extended creditterms, improve payment procedures.

May lose supplier goodwillsettiement discounts.




